Dietz & Watson, Inc. 5701 Tacony ST Philadelphia, PA 19135 USA



Telephone 215-831-9000 Fax 215-831-1044

Invoice to:

Paramount Export Co.

175 Filbert St, Ste 201

Oakland, CA 94607

Ship to:
Listo Produce/Paramo
1800 East Bay Street
Los Angeles, CA 9002

and, CA 94607 Los Angeles, CA 90021 USA

USA

Listo Produce/Paramount Invoice

Number 100186604
Invoice date 5/22/2025

00.

Sales order P.O. number Payment

Invoice account

Mobile document Id

SO100190817 P00032816 Net 30 days

C00000493

Remit to address:

Dietz & Watson, Inc. P.O. Box 8500-9350 Dept. # C00000493 Philadelphia, PA 19178-9350

D&W

DQW							
Item #	Description	Case Pack	Total Cases	Quantity	Unit	Unit Price	Amount
01631	DW Ham, Applewood Smoked, Uncured, All Natural 1/6 LB	1/6 LB	4	23.70	LBS	4.75	112.58
20306	DW Bratwurst, Black Forest, Natural Casing, Natural 6/1 LB	6/1 LB	4	4.00	CA	24.96	99.84
21306	DW Bratwurst, Hungarian Brand, Natural Casing 6/1 LB	6/1 LB	5	5.00	CA	24.66	123.30
22506	DW Uncured Cheddarwurst, Natural Casing 6/1 LB	6/1 LB	5	5.00	CA	24.66	123.30

Dietz & Watson, Inc. 5701 Tacony ST Philadelphia, PA 19135 USA



23072	DW Landjaeger Bites, Original, "Dietz Nuts", DRC 40/2 OZ	40/2 OZ	6	6.00	CA	34.25	205.50
23073	DW Turkey Landjaeger Bites, "Dietz Nuts", DRC 40/2 OZ	40/2 OZ	6	6.00	CA	42.75	256.50
23074	DW Pepperoni Bites, "Dietz Nuts", DRC 40/2 OZ	40/2 OZ	6	6.00	CA	34.25	205.50
33011	DW Turkey Breast, Gold'n Brown, Pre-Sliced 12/7 OZ	12/7 OZ	4	4.00	CA	37.19	148.76
33311	DW Turkey Breast, Black Forest, Pre-Sliced 12/7 OZ	12/7 OZ	1	1.00	CA	37.19	37.19
33412	DW Turkey Breast, Honey, Pre-Sliced 12/7 OZ	12/7 OZ	1	1.00	CA	37.19	37.19
40302	DW Ham, Virginia Brand, Gourmet Lite, Decorated, Half 2/5 LB	2/5 LB	1	9.15	LBS	4.53	41.45
40202	DW Uncured Ham, Virginia Brand, Baked, Scored 2/9 LB	2/9 LB	2	34.90	LBS	4.53	158.10
47002	DW Corned Beef, Flat, Half 2/5 LB	2/5 LB	2	23.57	LBS	6.30	148.49

Dietz & Watson, Inc. 5701 Tacony ST Philadelphia, PA 19135 USA



57912	DW Roast Beef, Cap Off, Medium, Half 2/7 LB	2/7 LB	12	149.95	LBS	6.30	944.69
54612	DW Uncured Ham Steak, Honey 12/7 OZ	12/7 OZ	2	2.00	CA	25.45	50.90
57202	DW Pastrami, Flat, Half 2/5 LB	2/5 LB	10	127.35	LBS	6.30	802.31
58402	DW Ham, Black Pepper, Half 2/6 LB	2/6 LB	2	22.75	LBS	4.37	99.42
58901	DW Uncured Ham, Black Forest, Smoked, Whole 1/9 LB	1/9 LB	12	117.68	LBS	4.25	500.14
59302	DW Uncured Ham, Honey, Black Forest 2/6 LB	2/6 LB	5	63.30	LBS	4.35	275.36
59502	DW Turkey Breast, Mesquite Smoked 2/7 LB	2/7 LB	10	140.15	LBS	5.97	836.70
60104	DW Hard Salami, Half 4/3 LB	4/3 LB	10	136.75	LBS	4.29	586.66



61802	DW Turkey Breast, Honey, Glazed 2/7 LB	2/7 LB	3	42.54	LBS	5.92	251.84
62402	DW Turkey Breast, Gourmet Lite 2/7 LB	2/7 LB	1	13.38	LBS	5.67	75.86
62642	DW Turkey Breast, Cajun Style 2/5 LB	2/5 LB	2	19.79	LBS	5.97	118.15
62702	DW Turkey Breast, Gourmet, Golden Brown 2/8 LB	2/8 LB	1	15.98	LBS	5.57	89.01
63102	DW Turkey Breast, Black Forest, Smoked 2/9 LB	2/9 LB	16	292.38	LBS	5.52	1,613.94
63502	DW Chicken Breast, Honey BBQ 2/6 LB	2/6 LB	4	49.50	LBS	4.34	214.83
63512	DW Chicken Breast, Buffalo Style 2/6 LB	2/6 LB	4	47.07	LBS	4.20	197.69
70206	DW Cheese, Yellow American, Loaf 6/5 LB	6/5 LB	15	15.00	CA	97.50	1,462.50
72624	DW Cheese, Sharp & Creamy Cheddar, Yellow, Loaf 2/5 LB	2/5 LB	6	6.00	CA	40.50	243.00

Dietz & Watson, Inc. 5701 Tacony ST Philadelphia, PA 19135 USA



73212	DW Cheese, Picante Provolone 2/6 LB	2/6 LB	15	185.60	LBS	4.25	788.80
73901	DW Turkey Breast, Oven Classic 2/7 LB	2/7 LB	2	26.96	LBS	5.84	157.45
76064	DW Cheese, Colby Jack, Mini Horn, Loaf 2/6 LB	2/6 LB	3	36.20	LBS	3.53	127.79
77740	DW Cheese, Jalapeno & Cayenne Cheddar, Loaf 2/3.7 LB	2/3.7 LB	10	10.00	CA	29.23	292.30
79602	DW Cheese, Muenster, Loaf 2/6 LB	2/6 LB	2	24.13	LBS	3.43	82.77
81802	DW Cheese, Smoked Gouda, Loaf 2/5 LB	2/5 LB	2	2.00	CA	52.00	104.00
71004	DW Cheese, Swiss, Half, 4x6 2/7 LB	2/7 LB	10	150.40	LBS	3.89	585.06

Dietz & Watson, Inc. 5701 Tacony ST Philadelphia, PA 19135 USA



 Total Cases	Total Net Weight	Sales Subtotal Amount	Total Charges	Net Amount	Total
206	2,573.18	12,198.87	0.00	12,198.87	12,198.87 USD

VOUCHER/A00038846 RM 6/10

Due date: 6/26/2025

Dietz & Watson and buyer/customer consent that any suit, action or other proceeding arising out of this invoice or any related document will be governed and construed in accordance with the internal laws of the Commonwealth of Pennsylvania. Dietz and Buyer irrevocably submit and consent to the exclusive jurisdiction of the state and federal courts located in Philadelphia County, Pennsylvania, specifically including the Court of Common Pleas, Commerce Court in Philadelphia (the "Chosen Courts"), for the purposes of any suit, action or other proceeding arising out of this invoice or any related document. Dietz and Buyer irrevocably and unconditionally waive any objection to the laying of venue of any action, suit or proceeding arising out of this invoice or any related document in the Chosen Courts, and hereby further irrevocably and unconditionally waive and agree not to plead or claim in any such court that any such action, suit or proceeding brought in any such court has been brought in an inconvenient forum. DIETZ AND BUYER WAIVE, TO THE FULLEST EXTENT PERMITTED BY APPLICABLE LAW, ANY RIGHT IT MAY HAVE TO A TRIAL BY JURY IN RESPECT OF ANY SUIT, ACTION OR OTHER PROCEEDING ARISING OUT OF THIS INVOICE OR ANY RELATED DOCUMENT. When you provide a check as payment, you authorize us either to use the information from your check to make a one-time electronic fund transfer from your account or to process the payment as a check transaction.